10
7\\\ E5 TEF ST CE /
9\ \ / > N 7
SEEhY
6\ - "/ 1 i 4 ./.' S
- ' > NS - e
RN
| \’ \ :
NN 19 \
23;24 20
6
/17,'18
13
i /"‘2
A
i
14




Cooling Water temperature control * notillustrated

ltem Description NO

Cooling Water temperature control 22.27.00

1 |body 22.27.01
2 |thermo element (70°C) 222702
3 |pressure pin 222703
4 |hexagon nut M4 18.11.63
5 |cylindrical screw M 4 x 12 2227.04
6 |spring 22.27.05
7 |cartridge check valve 17.20.02
8 |o-ring20x3 2227.06
9 |o-ring41,28x 3,35 2227.07
10 |cover 22.27.08
11* |Valve complete 22.27.09
12 |piston 2227.10
13 |o-ring5,1x1,6 222711
14 |reverse spring 222712
15 |pressure knob 222713
16 |cylindrical screw M 8 x 25 2227.14
17 |hexagon screw M 6 x 16 22.27.15
18 |lock washerA 6 12.91.53
19 |straight screwing 2227.16
20 |air pipe cooler 1 stage tube 8 X 1 X 1030mm 222717
21 |air pipe fuel pump regulator tube 8 X 1 X 110mm 2227.18
22 |seal supporting ring 14.70.50
23 |[ring for straight adapter 82273
24 |union nut 8.22.74




	22_Cooling water temperature control_02
	22_Cooling water temperature control_ET_02

